050 (00 190 50 80)

4 O00O0OOO

(000000000 300)

O0100(@oooo)---000000
gouoggoobbbbobogbobboboboooboboooboogn
gobd

0200 @0O000)--- F=ma  or (dp/dt)=F
000000000000000000000000000000000000
0ooooo

0300 (Oboooooooo)---000000
00 1000020000000 (00)ODODDO 200000 10000000
Ooo00ooO0ooooooo (ooo)o

Ooooo)
00 (imertia): 000 0000000000000000000000O0O0O00O00
00:000000000000007000700000000000

:0b0o0ubdgbboouobobbdgboobbodooouobbobbooggo
(0)0D0OO0DO00D00D0O0DO0OO0oO0oOoO0DOOoO0o00oooooOOoooooDoooO
gouboboogbbgoogogoboobo---0bbooogobo b

O00:p=mo 0000000000

o)

gil1bobgogbobouodgbbodgbgbboodgoooooouooon
goboboooogougoooobogobobbooboooooboobbobo
gogubbobouoodgbbobobobbobobobobboobouoobbonao
guooodoobdoobbubodooooboobbboooboooounoaboag
gubbogogbbuogoobbbboobbooouboboooobobbbo
000000000000 0O0000o(@oooo0oo0oooooooooooo
0000000000000 00000O000OO0O000ooObOoOOoDOO)0OoooOO
gbooboggobobbooodb 2000 20000000000000000O0O
gobobobobobobooboobbbbbbobbbobbuobooboooobboo
gbooubooobboobobooon



gbgobbobboboodooooobuooboboobooobooooobon
gboodbbdo 3suubobbououoobbbbuooooobuoooguoboboo
gobubooodddgoubooobuoooooboooooobobg sgooo
gboboboubgbuugboobuoguooooobboboooooobo

0200007’00000000000000” (p=F)0000000C000OCO
g 3gdubugbboooboouuougoboooooouobbooagn
gboobouobogobooobooogoo

guoddoodgbodbtd—-004040d

00o0000oooooooo(@)00oooooo0oooD ---0000000O

gogoooogoo

‘0000000000 o0boDooooooooooono”
1. 000000
d*x
dt?

000(d%/d?)=¢ 00000000 z=(1/2)g2+wt+z: 000000000 —
0000 ¢g000000 g~ 9.8m/s2 =980 cm/s>

mg=m

(4.1)

oooo)
lkg x 1m/?>=1N (0 D0000): MKS OO
lgx1em/s?=1dyne (0D OO): cgs OO
000 01 N= 10° dyne

2.0000

oboooooboboooboo Moo my0boobobbOo0obOooo
oo0 rROODO

Mm

F:GR2 (4.2)
0000000000 (000)00oooooo
02 Mm

— =@ 4.3

00000v=+/GM/R. 00000

21 R R
T=""-=9 RM— 4.4
) m GM (4:4)

2



bbbt meODODOO0OO0O0O00O0D0OO0O00O0

Mmo
r2

mog =G (4.5)

0O000r000000 r~6,400km. 0000 GM =r?g000Eq. (44)0

= QWR\/i— 7T—\/7 (4.6)

00000000000 00000R/r~30x(2r)0 000 T~270000000O

(000O0D0O0000000)

d’Ul . d’U2 .
IE_F ) M = F (4.7)

000000(d/dt)(mv; +meve) =0000p, +p, =000
00000000 (DboooopooOoOo)NODOOOOOO
=Y F; (i=1~N) (4.8)
JFi

000 F,0000 j000+000000000000000000000 Fj;=—Fy
00000000 P=%Y,p, 0000

dP dp, <
o dtzp’ Z P Zlng
=1 j#1

- ZZFij+ZZszZZZ(Fij+Fji):O (4.9)

i=1 j<i i=1 j>i i=1 j<i

goooopPOO0OOOOO
‘0O00b00o0booboooooooboogr
00000 (0000 Ocenter of mass) O

N
X0 — miTi 4 MNTN Zz:]\} mir; (4.10)
my+ - My 2 im1 i

000000 0oP=0000 (d/d)Xqg=Ve=00000000DOO0OODOOO

“Obo0oboboboboOooooooooboooooboboobobogr

Cooooo)



000000 KDODOOOO0O (DOooooDoO0o0ooooo0)Koooomoood
U0 viooobooobooboogd

r=r+Vt (4.11)

O00000000000000Y=v+V0OOd=a 0000K OOOOOO
00 FF=ma 0000 FF=FOOOOOODOOOOOODO F=maOODODOOOO
OOOF=000 KOOOOOOOODOOOOOODOOOOOoODbooooboooo
0000000000000 0000DODOOoOKk 00000 KoOboooobooooo
O0000C000DO0O (0000D)00D0o0ooooooK ODo00oooooog
o)

000000 (dp/dt)y=FO0OO0O0O00000¢t0000¢ ~t 00000
g

t1
. — po = / F dt = ®(t1, 1) (4.12)
to

000000 (impulse) 0000
“0000000000000000000000000007

(0)000000000000000000000000000000000000

0ooo

(000000000)000000000000000000

(00000000000 Opage 48, 0000)



